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Answer ALL questions. Write your answers in the spaces provided.

Some questions must be answered with a cross in a box X. If you change your mind about
an answer, put a line through the box & and then mark your new answer with a cross X.

1 (@) Which type of unemployment occurs when the demand for a product is only at
certain times of the year?

[J A Structural
[ B Cyclical
[J € Seasonal
[ D Voluntary

(b) Which one of the following terms refers to a tax on imported goods?

[J A Subsidy

L1 B Tariff

] € Fine

[ D Pollution permit

(c) What is meant by the term recession? oE
S

(90090 %
SRR

(90950509

Gk
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PMT

(d) What is meant by the term dumping?

Figure 1 shows the government revenue and expenditure in rupees crore for India in
2019-2020.
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Total revenue 2 080 201

Total expenditure 2784200

Figure 1

(e) Calculate the fiscal surplus/deficit in Indian rupees crore (Rs) for India in
2019-2020. You are advised to show your working.
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In 2019, Hungary introduced a subsidy on new cars for families with three or more children.

(f) Using the diagram below, draw the likely effects of the introduction of a subsidy on
the equilibrium price and quantity of new cars for families with three or more children.
Label the new curve, the new equilibrium price and the new equilibrium quantity.

Price of
new cars

The UK has 13 national parks with the Lake District National Park being the largest
and most popular. It had over 19.17 million visitors in 2018. Woodland covers over

A

D
>
e Quantity of
new cars
Figure 2

12% of the national park.

(g9) Explain one benefit to the UK Government of providing parks.
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PMT

According to a survey from accounting firm EY, foreign direct investment (FDI) into
Ireland increased by 52% in 2018.

(h) With reference to the data above and your knowledge of economics, analyse the
benefits of FDI for a country such as Ireland.
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2 (a) Anappreciation in a country’s exchange rate is most likely to lead to which one of the
following?
(1)

An increase in exports and a decrease in imports

A decrease in exports and a decrease in imports

(5 O O

An increase in exports and an increase in imports

|
O N @ >»

A decrease in exports and an increase in imports

(b) Which one of the following is likely to result in poverty?
(1)

High literacy rates

Low GDP per capita

(5 O O

Low rates of tax

|
O N @ >»

High employment rates

(c) State one effect on the balance of payments of improved quality of foreign goods.

(1)
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PMT

In the first quarter of 2019 the unemployment rate in Argentina increased by 1% to 10.1%.
This was the highest level in 13 years.
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(e) Explain one impact of rising unemployment on consumer confidence for a country such
as Argentina.
(3)
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Approximately 12% of goods traded globally are via international e-commerce. Tens
of millions of small and mid-size firms worldwide have become exporters by joining
e-commerce marketplaces such as Alibaba and Amazon.

(f) Explain one reason why the reduced cost of communication has helped to
increase globalisation.

KB
S Ssvitusta otuotel
RRRIRRLRK

<
KK
29305
55
poiols
bttt

-
000
%l
5
S,
Sote%

Jote
<
%%

505

$RKS

%
poses
hasese

%%

>
o

28
XS
SRR
3
S5

oot

<
SRRLGLR
o5

X8

X

258

%!
o920
%S

K

2L
Patets!

%
<
&L

o

2858

potelote
L
S5S
bete?

h246%S
A N

29
25

SR
eissesds

N
woasste B
<

RRRRRREIRRLLRKS
fototes

SERRHIXRKAL.

<

&

%
&

%
K

R
0’0

7
Turn over »
P 6 5 8 9 8 A0 7 2 0 urnove



PMT!

zs%?@a
zs%??%
CRAEKK

In 2019, Germany was considering increasing the tax on meat to protect the environment
and improve animal welfare. Currently meat in Germany has a reduced tax rate of 7%.
Some political groups are arguing that this should increase to the standard 19%. According
to United Nations research, methane from animals accounts for 14.5% of greenhouse gas
emissions — more than the direct emissions from transport.

(Source adapted from: https://www.independent.co.uk/environment/
german-meat-tax-environment-animal-welfare-a9045271.html) | &
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(g) With reference to the data above and your knowledge of economics, assess the
use of taxation to protect the environment in a country such as Germany.
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3 Figure 3 shows selected UK Government receipts from taxation in 2019.

fbn
Sales tax (VAT) 186.3
Income tax 268.3
Tariffs 31.9
Business tax 534

Figure 3

(@) What is the total amount of revenue raised by indirect taxes?

N

(|
(|
(|

O Nn W >

£454.6bn
£321.7bn
£218.2bn
£85.3bn

(b) Member countries of a trading bloc agree to

(|
(|
(|
(|

Nn @ >

D

trade together with low or no barriers
have the same rate of income tax
only trade with members within the bloc

have common borders between members

Brazil currently only allows a quota of 600 million litres of ethanol per year to be
imported from the US.

(c) Explain one advantage of using quotas for a country such as Brazil.

(1)

(1

PMT!

CRAEKK

basetetntes
<
proseessies
Ko RA
K
=
om0
R

D0 » 0%
35@%@?
KL
&

KRGS
Bosesotetes

<2

<
Pote
RIS

%
.:‘:’00000
o%%
9e%%

o
KRRILS
5
ool vete

s
5
(055
SoSodete
QRIS



PMT

The Slovenian Government spent €3.05bn on healthcare in 2019. This included additional
funding for reducing the time people were waiting for treatment and an extra €104m to
cover the recent increase in wage rates for healthcare staff.

(d) With reference to the data above and your knowledge of economics, analyse why the
2 Slovenian Government might want to increase investment in healthcare.
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In recent years Turkmenistan has been one of the fastest growing economies. The most
important sector of the economy is oil and natural gas extraction, which accounts for more
than 60% of GDP. Although agriculture accounts for only 10% of GDP, it employs 50% of the
labour force. Turkmenistan has seen annual GDP growth rates of 6.2%.

Turkmenistan GDP per capita ($)

7000 66939 07871

6399.2
5909.7
6000 5462.9
5006.3
5000 4439.2
4129.5
4000 I I
oL

2009 2010 2011 2012 2013 2014 2015 2016 2017 2018

GDP per capita ($)

Years

(Source adapted from: tradingeconomics.com)
Figure 4

(e) With reference to the data above and your knowledge of economics, assess the
likely benefits of economic growth for a country such as Turkmenistan.
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4 Zhang Li had 8000 Yuan (¥) in her savings account. The annual interest rate for this
savings account was 2.25%.

(a) Calculate how much interest, in Yuan (¥), Zhang Li received in one year. You are
advised to show your working.
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PMT

In July 2019, China’s annual inflation rate increased to 2.8%. This was the highest rate
since February 2018.

(b) With reference to the data above and your knowledge of economics, analyse the
impact of inflation on individuals in a country such as China.

25

R

KR
¢&aﬁﬁ%‘ 5
SR tototetetetet

K5
L8555

O
RIS
IR
X8
20!
IREEE

%
oo
<
RS
8
XK

OO
SR
KL
X8
29
5

000
S
d000%0,

KL
L5
28

18550
%%
LKL

:
GRS
SRS
%&ﬁ%%

%
298
S5

<>
5
oo
K55
2e%%%

RN
QLR
K
94
dotessiotet
RS

0%
f’
s
2K
XX

35
09592

S5
o203%

%
<
&L

0%
L

o)
2

KRHKARAAXARAA

ORI
RRERRLS
‘ﬁgﬁfgz?fgbo
V o0 V o0
QRIRKEL

S
%
0%,
55

XK HLIKRIK

XA
KRR
¢%§5

PRGELS
25KS
S0RILIRLIRKS

22
o
fa
L
SRS

00000
9% %029
SERS
Solocoldtols

9e%%
X %

X
KK
R

%
prote!

<
et
&
25
020!
!

S
5

%% %%
%%
%
X

LKL

VD A R0 OO A0 0 —
Turn over »
P 6 5 8 9 8 A0 1 5 2 0 urnove

KK
SERRRIRR

SHERES

<
(&S
hosess
55
e
pogole!

%
<

dSotetetetote!
SRS,
LRLRKRLRS

0992

%
o%
o%




PMT!

SLRRK
SR

XXX
KL

Since March 2019 the overall inflation rate for China has been above 2%. In July 2019,
China’s food prices increased by 9.1% from the previous year. In particular, meat prices rose
by 27% due to the spread of infectious animal diseases. At the same time fresh fruit prices
rose by 39.1% as the Chinese fruit supply had been affected by severe weather.

China’s central bank is called the People’s Bank of China (PBOC). The PBOC has the
responsibility of maintaining price stability and promoting growth through the
management of monetary policy.

China inflation rate %

3_
27 2.7 28
25 25 2.5
2571 23 - 23
o\o .
@
E 2 1.9
< 17
o 1.5
E 1.5 T
e
<
'I -
ObeICbIQ)ICbICbIO)IO)IO)IO)IO,IQIQ
N /'\ /'\ N (J/\ /’\ /’\ AN AN /'\ \/'\

AN
/ X/ Q/ (\ \o */ */ 7/ Q
PR T FEE R Y
Month and year
(Source adapted from: tradingeconomics.com)

Figure 5

(c) With reference to the data above and your knowledge of economics, evaluate the
effectiveness of monetary policy in controlling inflation in a country such as China.
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